AR ERERR (HILREFT)

[Frk2 7582 8H~3 0 HAIESD]

BT uSv/h
- NP E—— s
X = 3l HES &
#h[X =BFh AIEERT | BESE E578E EH700] E5305
< = Tcm 0.15 0.13 0.1
?%E\]mtggﬁifg‘ S RETR PRRE 50cm 0.13 0.12 0.10
' REE 50cm 0.07 0.08 0.08
- Tcm 0.10 0.11 0.12
B EER PRTRE 50cm 0.12 0.11 0.12
"E= | 50am 0.07 0.08 0.09
— Tcm 0.11 0.13 0.13
=tEER | e 50cm 0.12 0.12 0.12
RE=E 50cm 0.10 0.10 0.11
- Tcm 0.12 0.12 0.11
weagss | TR 50cm 0.11 0.10 0.11
"E= | 50am 0.09 0.08 0.09
. o 0.11 0.11 0.12
semeas | TR 50cm 0.10 0.10 0.11
FPIERILER "E= | 50am 0.08 0.08 0.08
(EBLLERPT) _ 1cm 0.19 0.16 0.15
wamREms | DR 50cm 0.12 0.17 0.14
"E= | 50am 0.08 0.08 0.09
- Tcm 0.13 0.10 0.11
REREF PRRE 50cm 0.14 011 0.10
"E= | 50am 0.09 0.10 0.06
- Tcm 0.11 0.11 0.09
ShoRam | TR 50cm 0.11 0.10 0.09
"E= | 50am 0.07 0.09 0.07
- Tcm 0.12 0.12 0.15
yNDA =TT PRRE 50cm 0.11 0.12 0.13
"E= | 50an 0.09 0.09 0.09
- Tcm 0.11 0.12 0.13
=T SHRER PRRE 50cm 0.17 0.13 0.14
"E= | 50am 0.09 0.07 0.09
. Tam 0.10 0.11 0.11
KHUREFR PRRE 50cm 0.10 011 0.11
AT "E= | 50am 0.07 0.07 0.07
R L Rz Tcm 0.11 0.12 0.12
HERBF 50cm 0.13 0.13 0.12
RE=E 50cm 0.11 0.12 0.11
_ Tcm 0.14 0.13 0.15
LIERERR PRRE 50cm 0.14 0.13 0.16
"E= | 50am 0.07 0.06 0.07
. Tam 0.10 0.11 0.11
KEREFR PRRE 50cm 0.10 0.11 0.12
- "E= | 50am 0.08 0.07 0.09
‘ i — o 0.12 0.12 0.12
R EBERBFR 50cm 0.12 0.11 0.13
"E= | 50am 0.09 0.09 0.08
. o 0.11 0.13 0.11
SR ETR PRRE 50cm 0.10 0.14 0.11
RE=E 50cm 0.11 0.10 0.08
. Tan 0.12 0.13 0.13
=2H samREF | e 50cm 0.12 0.14 0.12
RE=E 50cm 0.10 0.12 0.09
. Tan 0.12 0.12 0.12
=Eiiza)) ommEss | R 50cm 0.11 0.11 0.11
"E= | 50am 0.07 0.08 0.07




AR ERERR (HILREFT) [ER2 7582 8H~3 0 HAllESD]

BT uSv/h
- seses=z || e HIEH
= ~E| ~E| .;. 15
#h[X =BFh AIEER | BESE E578E EH700] E5305
— Tcm 0.13 0.11 0.09
= AULIE] s LREFR | TR 50cm 0.13 011 0.10
HBZ | 50 0.08 0.08 0.09
. Tam 0.08 0.08 0.70
ilesT:g R EFR PRRE 50cm 0.08 0.08 0.11
HBZ | 50 0.08 0.08 0.07
- Tcm 0.12 0.10 0.11
#ogH] mERET | P [ Socn 0.12 0.1 0.12
HBZ | 50 0.08 0.08 0.07
. Tam 0.10 0.14 0.14
AAHEETR PRRE 50cm 0.10 0.10 0.12
\ HBZ | 50 0.08 0.07 0.06
EHAE] — Tam 0.08 0.09 0.09
R ERETR 50n 0.09 0.09 0.08
HBZ | 50 0.09 0.08 0.08
— Tcm 0.15 0.16 0.13
FEEE] BERET | P [ Socn 0.15 0.15 0.14
RE=E 50cm 0.11 0.10 0.12
. Tam 0.09 0.09 0.11
R ERET mERSET | P oo 0.10 0.10 0.10
HBZ | 50 0.08 0.07 0.08




